Math 322 January 17, 2017 the front

For each system of equations, find the solution(s). Also, express each system as an augmented

matrix.
, 3 + 5%, =
' 3x, + 6x, =
I 3x, + 5%, = 6
' 6x, + 10x, = 8
X, = 1%, + 6x, = 5
II. 2x, — 4x, = -6

=X+ IX, - 4x;, + 2x, = 7
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1. The echelon form of a system of linear equations in X, y and z is given as
1 2 3| 4
0 0 hj| 3

a. For what values of h is this system inconsistent, if any?

b. Suppose we choose h=1. Write the solution set.

-1 1
2. Let U= and V= .

a. Find 4u-3v

6
b. Canyoufind @ and b so that au+bv = {2} ?



